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Cluster: 0067 ptr; resid: 0.34; r/c: 20/60

x.range

upstream meme PSSM #1; e=150

1 3 5 7 9 111 3 5 7 9

x.range

y.
ra
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upstream meme PSSM #2; e=810

1 6 11 161 6 11 161 6 11 161 6 11 161 6 11 16
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10865

14453

13001

13125

15016

18549

2819
29861

30394

3311

35250

38085

43302

44690

49310

49924

51516
54751

54873

859

string −500 −400 −300 −200 −100 −1
54873−0.01
13001−0.12

859−0.15
35250−0.20
10865−0.44
54751−0.47

2819−0.67
49310−1.01
51516−1.14
38085−1.37
44690−2.30
49924−2.41
29861−2.49

3311−2.82
15016−3.12
14453−3.62
18549−5.74
30394−5.91
43302−7.35
13125−7.51

log10(P) upstream meme1 2 log10(P.clust)=−2.44; 20 seqs; 20 uniq
c(0.5, 2.5)
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